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1. Determine which sequences are geometric. For those that are, state the
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3. The 31st term of a geometric sequence is 123 and the 32nd term is 1107.
What is the 33rd term?
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6. For each geometric sequence, determine
@i the general term ii) the recursive formula iii) 7,

a) 4, 20,100, ... d) 896, 448, 224, ...
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6. For each geometric se
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quence, determine

i the general term i1) the recursive formula iii) 7,
b) —11, —22, —44, ... ) 6,2, %, I
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6. ach g Ometric sequence, determine
E th ral ter ii) the recursive formula iii) 7,
) 15, —60, 240, ... f) 1,0.2,0.04, ... /
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8. Determine the recursive formula and the general term for the geometric
sequence in which
a) the first term is 19 and the common ratio is 5

b) H=-9 and r= —4

c) the first term is 144 and the second term is 36
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10. i) Determine whether cach general term defines a geometric sequence,
where #» € N.
i) Ifthe sequence is geometric, state the first five terms and the
common ratio. 9 b4 & :":7X'(:2)n—4 }
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11. The 5th term of a gEOMETric sequence Is 45 and the 8th term is 360.
Determine the 20th term.

[ ; 20~
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16. The Sierpinski gasket is a fractal created from an equilateral triangle. At each

gasket. How many shaded triangles would be present in the sixth stage?
b) If the triangle in the first stage has an area of 80 cm?, what is the area of

the shaded portion of the 20th stage? stage 1 stage 2

stage, the “middle” is cut out of each remaining cquilateral tria.ngle. The first
three stages are shown.
a) If the process continues indefinitely, the stages get closer to the Sierpinski

stage 3
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